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1. (A) dERURERLAAL: (SIURLA)
Comment critically with translation of the following prose piece : (any two)

AC-156

(1

)

€)

(4)

T e Temend ameiift yemea gyRefafenta | anfy
syfaferien Je Taa=ad %R, HEekl o HrRvIehag JTHgHT Hew |
T9d W0 TR ercgEtedgra fend gRfa-feem o aifE
TATEERTghl | FEReAn T fe A G fafed: siwen W
ffeeféaes: 3fq |

gfefi “siqea: A=qea:” sfa saureafaieshur =+ fagudt aehAwrmTeded gerafd |
AR TET: R < foasorereer 3 | agw — =Ia s S
R Fh(d: 3 | T | e, ? foaeEes e w156 7
SETHRIHTISRMATY ST STRIfIeiaio | =ia- 0 J[g8 & 599d | STl F SiTferetatol
<A YSY T A | 7 T [AevTes Wehdl frshrmal 38: |

AgeRd — I ST&l SATA: SR Yeh(d: 3id | A=I99gad | HErTq, ? foreremreies
foepre wehea: | 3¢ T srerpRicRTRSEm S sErfaea 7 9a7 9 ged =
Z9ad | STEl ¥ SfcIerev Jad Yed ¥ YA | 7 9 freteore wehfa faeramn
Z: | 7 T8 Taehreal forshmr Herehfceht waf=t SRTaTea a1 Gavisehiet: | 9ed q
Tefrar faem: whra=, gavi = gavrfr: |

T TR G YT T ST W "R iy sheny T e,
A, U6 T THRARE T §9wA S | IUT 9 Wegeie:
TAGIHTT 7 HEIed 3fd | T GIEGARARTAcTd, ThHaTaEEh!
seafiraTefirET TemE i 7 TegeE |

[Max. Marks : 70
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(B)

2. (A)

(B)

AC-156

Ag- 6 AL Bz @il : (S1SURLAR)

Answer in one or two sentences : (Any four)

(1) it oAl Beultt, R 2 @Al sRuL a5 Rig 53l W2 yduat sl
GeLeRUIL AL € ¢

2) st 2¥[AuEH ALHIAL 15 524 8, o sl [ARg © ¢

(3)  AUvARH[A-l selld UHISL MHAsRElAIEA s BRI 2l s1RELS. ..

(4) UL ARRY[AAL 55 olloid s o1l AL ¢

(5)  RUR FHARALURRR (438 S AR UM 24 =TS s1 51zl ¢

6)  GusRIusREUd 3ell Ut Al 215 ¢

2 [esR01-URILL UL (s1ETURL i8)
Comment in detail for the following : (any one)
TR |
24|
STREUTTTRISRT |
AR [Aseu w2l 530 Br evll « (SlEqeLAR)

Choose the correct option and write the answer : (any four)
(1) USRLARIAL G ALH oLl

(@) sl URAA UL (b) 2SR USLA ¢
() WRRs H{MRAU G (d)  stAlstA ¢
(2) el [Bdla 2= A oveudl.

(a) A~ 2Ala5R01 (b) (AR 2=
(€)  UleA AR (d) AU AU
(3)  GABR{ 2AURALH oyl
(a)  deldxyal (b)  AvAfL
(c) AR (d) A
(4)  USRRARIAL = He (e A Ul
(a) sl (b) Ml
(c) Rlowsl @) sl
(5)  USRIAURL GIRL AL ALAEL UREL HS S UL ¢
(a) WA (b) gRRsl
(c) ISR d) oyl
(6) gLl Hyud Ulwie [duu &
(a) M (b) ol
(c) <l d) wat
2

14



3. (A) USRIARAL deastil uled s

(B)
4. (A)

(B)
AC-156

Yl

[ HL UL ALl ARAL R AL
s - 6L AL ovalol vl @ (51Ul 2L
Answer in one or two sentences : (any three)

(1
2
3)
4
)

5IR0L-51 22| Y 212 [Aaiaivlica- FRIs0L 53 ASIA AT SRS
Goir HIMIRAELUAAL UBLAL A AL *URA ALH oLl

UVl Yellsd 2HE WAl sl Reglldzil g s¢ © ¢
UERHL AR WL s1RIRIL 5101 g 6L AR 51REL AL

RS R AL HAA WellAHeal Gyl 2L 8 sIRELAHovL.

25l vl s (Sl5uBL o)
Write a short note : (any two)

(1
2
3)
4

UYL

SR IAURI 2y
ARR{2, WALy

2L, AR A U

QY [Aser WR1g s31A Br eull : (slfyeL ARL)
Choose correct option and write the answer : (any three)

(1)

2)

€)

(4)

)

R IARIAL HIEIMLA A LAl & dHIL 2L AL a4 2lludl el .

(a) AUsd (b) HaAuAH

(c) s d)  s~$

YUzt Hel Glgid aald- 5101 2511 dl 521 61N IRl ¢
(a) iAdsIUAZY EIY (b)  GIHRIHESAL 81N

(c) Mel-tuAlor- &1y (d)  UA[ARM &N

UV (AL ¥ H Ul oL SIRWLSEL & d 23[d ¢

(a) AL (b) RuL3[d

(€) dRdoL ¥¥[d (d) yeiust 23d
R A1 Rt YAl UMl UM AL € o ALl ?
(a) USRI (b) JRLGLaLl

(c)  Gulmg Al (d) 2 sl

USRAURLAL g sAL AR 2AARL S 9

(a) ‘sd (b) 2igd

) ‘sdizd @) CReEd
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YA (1) el dRg el Eldd 6.
(2) &8 UH RAUA B,

1. (A) =gz IsgHT T | Aol 14
Yl
Tehfod TqAde: | Aol
(B) Al 3 o 1§ R Aled @MAL. 4
(1) UrRAUARALAL @aell
(2) BGulsld @atull

2. (A) AlAeudAdl Balerl Aldd AHMAL. 14
Yl
FacafirgreRanfaftea fawfa amavafiergamg | — unodl.
(B) Al 2 o 18 R Ale @L : 4
(1) il
) ‘al-eig

3. (A) “AoyAl UCEALD 2 ABIA 8.7 — BELeRL U AHMAL. 14
1Y
2412434 vl 6 Gl oyl
(B) Al UL B AL : 3
(1) el sl Al gRUARLE 9
(2)  @edRlAL USR wRudl.
(3)  SHRUKIAURL 2CEAL B2El USIR £ € ¢

4. (A) sl sl a2l sul drasll 2 6 ¢ 14
Yl
USLAL CleA U[dRR Ul
(B)  AlAAl UL BR AL : 3

(1) UAEAL AR AL
2) 348 Sl s¢ell ¢
(3) (AL 52U U SU & ¢
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